                                Word Detectives                           25.3.09
1. Jane thinks that each person at her party will eat three biscuits each. There will be six people how many biscuits will she need.[image: image4.wmf]
[image: image1.wmf]2. There are 6 sparklers in a box. Sam has 4 boxes. How many sparklers does he have altogether?

3. The teacher needs each table to have six pencils. There are 5 tables. How many pencils will she need all together? 
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4.  Ben wants to buy 4 lollies for each of his seven friends. How many lollies will he need to buy?                                                                       [image: image3.jpg]



